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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff

Warning: col ['FVIEC1 _E', 'FVOEC1_E2'] missing

0.2

0.4

0.6

0.8

Warning: col ['FVIPH1_E’, 'FVOPH1 _E2'] missing

0.0

0.2

0.4

0.6

0.8

1.
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-1_0
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m=775,m FV0=0
30 -
—— MW
29 -
28 -
27 -
775 780 785
m=915,m FV0=0
—— MW
30.0 4
29. 5 4
29.0 4
28. 5 4
28.0 1
27.5 4
915 920 925

30.

30.

29.

29.

28.

28.

21.

m=500, FV0=0
30 A
—— MW
29 -
28 -
27
26 -
560 565 51IO
m=670,n FV0=0

29 —o— MW
28
27 A
26 -
T T T
670 675 680
m=805,m FV0=0
30 - —— MW
29 -
28 A
27 A
805 810 815
m=950,m FV0=0
5 -
- MW
0 .
5 -
0 .
5 .
0 .
5 .

950 955 960

m=535, FV0=0
—— MW
30 -
29 -
28 -
27 A
T T T
535 540 545
m=705,m FV0=0
—o— MW
29 -
28 -
27 -
26 Bk T T T
705 710 715
m=840,m FV0=0
30 A —o— MW
29 A
28 -
27 -
842.5 845.0 847.5 850.0 852.5
m=990,m FV0=0
-o— MW
30. 0 -
29.5 A
29.0 A
28.5
28.0
27.5 A ®
990 995 1000
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P3-1

BrE) | GEBAK (3 | ERE (EH/R) (XS R

07:45 278 150. 0 5| 1Ri%e07:45 B (REEREE)
08:30 278 150. 0 E|  {Ri1&@08:30 Bah (KRF{ERLEE)
09:25 278 150.0 & 1RiRe09:25 B (KREAERE)
10:10 278 150.0 & =| 1Ri%e10:10 Bzh (RAEEE)
10:55 278 150.0 & =| 1Ri%@10:55 B3h (KRAHERESE)
11:35 278 150.0 = RRiB011:35 B3 (REAEEE)
12:15 278 150.0 | Rike12:15 B (REAERS)
12:55 278 150.0 5| {Ri%e12:55 B3 (RAEBSE)
13:35 278 150.0 5| {Rike13:35 Bz (REAERS)
14:15 278 150. 0 E BRige14:15 Bz CGRAEESE)
15:10 278 150. 0 El BRi&e15:10 Bz GRAERESE)
23t+]3058.0 (117%) 1650. 0 33 KEC: 2080.0, PH: 5.6

#H[EKRECE (2370.0 vs 3858.0) id 5



FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=58 (2025-05-26)

3000

R S e i e e
V1, V&SRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2100

100 - 662 1790 - 2000

1500 150924

50 A - 1000

FRV (ml d-1)

60 Warning: lcol ['FVI',| "FVO'] missing 144

200 A

150 -

100 -

50 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @60 01:42: ET=1793 Fg=2250.0 Ro=470.0 3000

4 4 L ®
o —o—o—9—® | 2000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 (3)000
% | # | 7 | % |7 | | W | | W | W [ % | W | | W | W | W | m | M | | | | | | W@

]
ByEt @D58 19:10: ET=1434 Fg=1500.0 Ro=nan o :
I

)
4

200 - 2000

100 A - 1000

O—t:"’ ) — 4
0 1 2 3 4

300 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

W | % | % | W [ | || m || (Bn|m || w | m®m | (Eakm] W [Za(Ea] @

1

ByWoF\I @D60 01:42: ET=1424 Fg=1650.0 Ro=304.0 P [ 2000
1

: I I - 1000

1

1

10-!2’ I ) — 4

) 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

BB | B5 | B | BF | H5 | MBS | BE | R | ME | BE |- [ BF | 5 | fs [ BF | f5 | M8 | BR | [XM| A | 2= (%5 Hs

200

100 A

ET (ml/hr/plant)

0.8

0.6

0.4+

0.2~

0.0
1500 4 ] u

[ ] | _obs
—@— PPFD obs

31 ) e v W

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=470, FV0=0 m=510, FV0=0 m=573, FV0=0

29.04 ~®— ME —e— ME | 290 - ME
30. 5
28.5 28.5
30. 0
28.0 - 28.0 -
27.5 29.5
27.5 -
27.0 29 0 - -
- ME :
26. 5 -
26 - T T T T T T T T T T T T T T
500 600 700 800 900 470 475 480 510 515 520 575 580 585
m=620,m FV0=0 m=665,m FV0=0 m=710,m FV0=0 m=750,m FV0=0
30. 0 - 30. 0 -
—— ME | .. - ME : R - ME | 305 - ME
29.5
29.5 30.0 -
29.0
29.0
29.0 - 29.5 -
28.5 - 28.51
28. 5 - 29.0
28.0 28.0 1
28.0 28.5 4
27.5 27.5 -
27 5 28.0
T T T T T T T T T T T T
620 625 630 665 670 675 710 715 720 750 755 760
m=800,m FV0=0 m=835,m FV0=0 m=885,m FV0=0 m
—&— ME | 355 o= ME 504 9 MF
29.5
30.0
29.0 30. 5
29.5
28. 5 - 30. 0
29.0
28.0 29 5 -
28.5
27.5
28.0 - 29.0 1 25 1 —— MW
27 0 - T T T T T T T T T T T T T T
800 805 810 835 840 845 885 890 895 500 600 700 800 900
m=470,m FV0=0 m=510,m FV0=0 m=575,m FV0=0 m=620,m FV0=0
28 - -o— MW 29.5 A —— MW 29 —— MW 29 —o— MW
29.0
i 28 -
27 28.5 - 28
28.0
26 27 1 27
27.5 -
27.0
25 7 26 26 -
26.5
470 475 480 510 515 520 575 580 585 620 625 630



m=665, FV0=0

29 -

28 -

27 A

26 -

—0—

M_w

665

T T
670 675

m=835,m FV0=0

29 -

28 -

27 A

26

—0—

M_W

835

T
840 845

m=710, FV0=0
—— MW
®
28 A
27 -
26 -
T T T
710 715 720
m=885,m FV0=0
30 A
—— MW
29 A
28 A
27 A
T T T
885 890 895

m=750, FV0=0
99 —— MW
28 -
27
26 -
T T
750 755 760

m=800, FV0=0
-— MW
28 -
27 A
26 A
860 865 810
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P3-1

BfiE) | BB (F) | EHE (EA/K) [ XK R

07:30 278 150.0 F  BRi1%e07:30 Ba1 (GRAERSE)
08:10 278 150.0 = {RRiB008:10 Bz (RFAKEE)
08:45 278 150. 0 5| 1Ri%e08:45 B (REERE)
09:20 278 150.0 5| 1RiIR009:20 Bz (KRFEAEES)
10:05 278 150.0 5| 1Ri&e10:05 B (REAERS)
10:50 278 150. 0 F BRi%e10:50 Bzl (GRAERRE)
11:30 278 150.0 S {Ri%e11:30 Bz (GRAERSE)
12:05 278 150.0 =l RRiB012:05 B (REAKEE)
12:40 278 150. 0 5| 1Ri%e12:40 B (REERE)
13:20 278 150.0 5| {Ri%e13:20 B3 (RAERSE)
13:55 278 150.0 = RRiB013:55 B (RFAEESE)
14:30 278 150. 0 E BRige14:30 Bz (GRAERESE)
15:00 278 150.0 5| {Ri%e15:00 B3 (RAERSE)
15:35 278 150.0 = RRiB@15:35 B (RFAEESE)
16:20 278 150.0 =l RRiB016:20 Bz (REAKEE)
=3t] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.6

FEREHEM S STEAERS (179.0 : 145.0), AIBEMT—@E XFHE
FRINSEPRIEBRE145.0 ml.

large discrepency for begining water status (366:75.0), set to 366 ml
BEERECE (2323.0 vs 3613.0) R



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=57 (2025-05-25)

3000
150 Fm—————F——————F——————F-—————F-—————F——————F——————F——————F——————F——————f——————F—= S
VI, ngé:sRV, ET - VI, V0, FVI, EVO, FRV, ad jFRV, ET 5
1900 2100 030 —
100 - 585 638— 2000 _Ic
E
90 1 - 1000 =
o
40 Warning: lcol [FVI',| "FVO’'] missing 60
0 - 02
200_( . vi —_ ME P
FRV maxM -} 30
150 frmmmmm L g "‘ -\ B e e S IS S
w
| | L1
50 - W - = - | — - | — - - i - 26
1.0 LI 24
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
By|ni'l: @D60 01:43: ET=1993 Fg=2400.0 Ro=477.0 ?3000 o
400 - : s
: 2000 =
1 E
200 - : —
! L 1000 2
| 3
p———1& ©
0 o lao PN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
iE | B | B | B | B | B|[mB|B| B | B B 5 | BB | BB i 5 5 5 i 5 5 5 i & I 3000
400 - i =
ByEt @D57 16:36: ET=2040 Fg=2035.0 Ro=nan : %
@ @ @ - 2000 >
£
200 - —
L 1000 2
3
b S & © @
0 o a P SN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
iE | B | B | B | B | B|[mB|B| B | B i 5 5 5 B 5 | B 5 B 5 5 5 i & I 3000
400 - i - — ~ €
ByWOF\JI @D60 01:43: ET=1638 Fg=2250.0 Ro=422.0 PY PA PY ® ® =
1 —& @ © 4 . - 2000 >
1 E
200 - : —
! L 1000 2
| 3
p———1& ® 4 L 4
1.0 a___la PN — o 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
0.84 = B B B B B B B B B B B B B B B B B B B B B B B
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ N
[ ] | _obs
1000 - —@— PPFD obs
500




29.

28.

28.

27.

30.

29.

29.

28.

28.

27.

30.

30.

29.

29.

28.

28.

m=455, FV0=0 m=500, FVO0=0 m=560, FV0=0
ME 28.5 —&— ME —e— ME 29 - ME
29.0 -
28.0 -
28
27.5 - 28.5 - ® .\._.\.-.
27.0 1 i
28.0 27
26.5 -
26 |
26.0 - 21.5 1
T T T T T T T T T T T T
600 800 1000 455 460 465 500 505 510 560 565 570
m=605,m FV0=0 m=645,m FV0=0 m=685,m FV0=0 m=720,m FV0=0
—o— ME 30.0 1 —o— ME 300 - —e— ME | 30.0- —o— ME
29. 5 -
29 5 29.5 4
0 -
29.
29.0 29.0 -
5 -
28.
28.5 - 08,5
01 28
‘ 28.0 - 26,0
51 27 '
: 27.5
T T T T T T T T T T T
605 610 615 650 655 685 690 695 720 725 730
m=760,m FV0=0 m=795,m FV0=0 m=840,m FV0=0 m=875,m FV0=0
0 30. 5 A
30. 30. 0 A ——
30. 0 1
5 - 29.5
29.
0 - 29.0 - 29.5 1
29.
5 - 28.5 - 29.0 1
28.
0- 28.0 28.5
28.
5 27.5 1 28.0
760 765 770 800 805 840 845 850 875 880 885
m=915,m FV0=0 m=955,m FV0=0 m=1015m FVO0=0 m
31.
51 31.0 - —— 29 1
30.
0 - 30. 5 - 28 1
30. ] i
5 4 30.0 27
29.5 4 -
0- 29. 26
29.0 1 25
5 - 29. 5
28 5 = 24 n
0 - T T T 28. T T T T T T T
915 920 925 960 965 1015 1020 1025 600 800




28.

28.

27.

27.

26.

26.

29.

28.

28.

27.

27.

26.

28

m=455, FV0=0

27 -

26

25 -

24 -

—— MW

455 4é0 4é5
m=645,n FV0=0

28

27 -

26

—— MW

645 6%0 655
m=795,n FV0=0

5_

0

—— MW

795 860 865
m=955,n FV0=0

5_

0_

- MW

?

955 960 965

m=500, FV0=0

—— MW

28.5 -
28.0 -
27.5 - o
27.0 4 ._.\’*o—o
26. 5 -
26.0 -
T T T
500 505 510
m=685,m FV0=0
29 -
—— MW
28 -
27 -
26 -
T T T
685 690 695
m=840,m FV0=0
—— MW
28 -
27 -
26 -
840 845 850
m=1015m FVO0=0
0g - —— MW
28 -
27 -
26 -

1015 1020 1025

28.

28.

27.

27.

26.

26.

25.

29.

28.

28.

27.

27.

26.

26.

m=560, FV0=0

28 A

27 -

26

25 A

—— MW

560

565 5%0
m=720,n FV0=0

—0— MW

720

7é5 750
m=875,n FV0=0

—0— MW

875

880 885

m=605, FV0=0
29 A
—— MW
28
27 A
26
T T T
605 610 615
m=760,m FV0=0
—o— MW
28 -
27
26 -
T T T
760 765 770
m=915,m FV0=0
29 _ + M_W
28 -
27
26
915 920 925
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P3-1

BfiE) | GEBEETIC (F)) | EM=E (BH/K) | KR R

07:40 273 150.0 = {Ri%@07:40 B (RFAERSE)
08:20 273 150. 0 E|  {Rig@08:20 Bah (RE{ERE)
09:10 273 150.0 | 1Ri%e09:10 B (RFAERER)
09:50 273 150.0 E[ 1BRi&@09:50 Bzl (RFAEREE)
10:30 273 150. 0 E BRi&e10:30 Bzl (GRAEREE)
11:10 273 150.0 sl BRiBe11:10 Bz (REAERESE)
11:45 273 150.0 =l {Rige11:45 B3 (RAERSE)
12:20 273 150.0 =l RRiB012:20 B3 (REAKEE)
12:55 273 150.0 =l {Rige12:55 B3 (REAEDSE)
13:30 273 150.0 F BRi%e13:30 Bz (GRAERE)
1405 273 150.0 =] Ri%e14:05 B (REATREEE)
14:40 273 150.0 =l RiB014:40 Bz (REAEESE)
15:20 273 150.0 F[ BRige15:20 Bz (GRAERESE)
16:05 273 150.0 5| 1Rike16:05 Bz (REAERS)
H2it]3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

TERRHERE STHMERT (176.0 : 139.0), ARHEHAT—AERXAHE
ZRIASERRIERE139. 0 ml.
B EKECE (2223.0 vs 3670.0) 45



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150 A
100 A

50

200 4
150 -
100 -

50 A

0.

0.
300 4 Bytni

200 -

100 ////////
0 f—f—f—R—=% _ILIX_IL_IL_I{HIL_JI\\\\\\\\\—___
O T T T T A O
200

100 -

O I O I I
200 -
100 -

1.
0.8
0.6
0.4+

0.2~

P3-1_0, Day=56 (2025-05-24)

VI, V?ga';RV’ ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2288

60 Warning: lcol [FVI',| "FVO’'] missing 40

T
N
o
o
o

- 1000

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

@D60-01:43: ET=1978 Fg=2700. 0 Ro=529.0
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FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=465, FV0=0

27.0 - —o— ME
26.5
26.0
25.5
25.0
24.5
24 - T T T T T T
600 800 1000 465 470 475
m=600,m FV0=0 m=645,m FV0=0
29.0
—— ME | ] -o— ME
28.5
28.0
28.0
27.5
27.5
27.0
27.0 26,5 -
26.5 15 . : : : .
600 605 610 645 650 655
m=765,m FV0=0 m=800,m FV0=0
29.0 29.5 4
- ME —o— ME
98, 5 - 29.0
28.5
28.0
28.0
27.5
27.5
27.0
27.0
26.5 15 . : . : :
765 770 775 800 805 810
m=940,m FV0=0 m=990,m FV0=0
30.5 —-o— ME —-o— ME
30.5
30.0
30.0
29.5
29.5
29.0
28.5 29.0 1
28.0 15 . : 28.5 4+ ; ;
940 945 950 990 995 1000
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27.

m=495, FV0=0
0 -
e ME
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0 -
5 -
o -
5 -
T T T
495 500 505
m=685,m FV0=0
- ME
o -
5 -
0 -
5 -
0 -
T T T
685 690 695
m=845,m FV0=0
- ME
5 -
07 oo
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0 .
5 -
845 850 855
m
28 -
26 -
24 -
22 7 —-— MW
600 800 1000
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m=5395, FV0=0

——

M_E

T T
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——
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T T
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895 900
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m=495, FV0=0

28 —— MW
27
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25 -
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T T T
495 500 505
m=685,m FV0=0
—o— MW
28 -
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T T T
685 690 695
m=845,m FV0=0
—— MW
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27 4 i o S
26 -
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845 850 855

m=555, FV0=0
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28
27
26
25 - .()'
555 560 565
m=730,m FV0=0
0 —— MW
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26 -
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730 735 740
m=890,m FV0=0
—— MW
28 -
27
26 -
890 895 900

m=600, FV0=0
—— MW
28
27
26 |
25 -
T T T
600 605 610
m=765,m FV0=0
—— MW
28
27
26 -
25 -
T T T
765 770 775
m=940,m FV0=0
29 7 —— MW
28 -
27
26 |
940 945 950

29.

28.
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27.

26.

26.

m=645, FV0=0

28 A

27 A

26 -

25 A
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M_w

645

660 655
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—o—
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